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RCNP Exp detector structure

e 15t station : 10cm*10cm*100cm 27
e 2 station : 10cm*10cm *200cm 474
e 3rd station : 10cm*10cm*20cm 474

Veto 50cm*50cm*1cm 174

total # of detectors : 117H,

total # of PMT : 1874
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Li target

28l0] 0|2 SHX} 0L K] : 65 MeV, 390 MeV

Beam current : ImuA (~2*10° neutrons/s)

Yield and energy of peak neutrons are ~ 0.96*10%° srimuC?! and 387 MeV
for the 389 MeV pri

Number of background neutrons above 3 MeV is less than 1%



Simulation structure
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Neutron energy : 65 MeV
Number of events : 10*

Ey, i 1 MeV

Target — detector distance : 10 m
Gap between stations : 60 cm
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Arrival time
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